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Part TT. Show all work | Inchide cguations and substileion with vnits with a commectly
rounded final answer.

1. A stone is dropped fiom a 75 m high building. When this stone has dropped 13
m. a second stome is thrown downward from the same height with mn initial
velocity such that the twa stones hit the ground at the same time.  What was the
immmial velocily of lhe second stone?
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2. Car A js traveling at 55 mi's and is heading towards car B along a straighe line path.
Car B is traveling at 200 mfs. A quick thinking AP B Physics student whips out her truscy
stopwatch and measures 125 seconds from when she first saw the cars to the point when
they mect. What was the distance beltween the cars at a time of zero scconds?
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